
 

tpfpjk; 

01. fPOs;s $w;Wf;fspy; tpfpjf; $w;iwj; njupT nra;J mjd; tpfpjf; fzpaq;fis vOJf.  

 rhe;Jf; fyitapy; ehd;F jhr;R kzYf;F 1 jhr;R rPnke;J. (tpfpjf; fzpak; - 4:1) 
 mkPid tpl c];khd; caukhdtd; (tpfpjkd;W) 

 I. xU XtUf;F 5 Xl;lq;fs;.      (   ) 

 II. G+g;ghj;jpapd; ePsk; 4m mfyk; 2m     (   ) 

 III. khyid tpl epkyd; fzpjg;ghlj;jpy; mjpf Gs;spiag; ngwy;.  

           (   ) 

 IV. Njhlk;gor; rhw;wpYs;s ePu; 500ml, Njhlk;gor;rhW 200ml  (   ) 

02. gpd;tUk; xt;nthU tpfpjq;fisAk; thrpf;Fk; Kiwiaj; jUf.  

 I. 1 : 5  = ________________________ II. 8 : 3  = ________________________ 

 III. 10 : 15  = ________________________  IV. 4 : 1 = ________________________ 

 V. 60 : 100 = ________________________ 

03. ,q;F Fwpg;gplg;gl;Ls;s xt;nthU tpfpjj;ijAk; ,yf;fj;jpy; jUf.  

 I. VOf;F Ie;J  ________________ II. gj;Jf;F ehd;F  ________________ 

 III. ,UgJf;F Kg;gJ  ________________ IV. vl;Lf;Fg; gj;J = _______________ 

 V. ehd;fpw;F xd;W  ________________ 

 

04. mUfpYs;s ghj;jpuj;jpy; cs;s ePupd; tpfpjk; ahJ?  

 _______________________________________________ 

  

 I. Fkhu; 2kg rPdpAk; mtdJ mg;gh 1kg 500 rPdpAk; thq;fp te;jdu; vdpd; mtu;fs;  
  thq;fpa rPdpapd; tpfpjk; ahJ? 

  ______________________________________________________________________ 

 II. RkjpaplKk; mkhypaplKk; ,Ue;j mg;gpspd; tpfpjk; 3 : 4 MFk;. Rkjpaplk; 9  
  mg;gps; ,Ue;jd vdpd; mkhypaplk; ,Ue;j mg;gps;fs; vj;jid? 

  ______________________________________________________________________ 

 III. mg;gps; xd;wpd; jpzpT 200g, Njhil xd;wpd; jpzpT 250g. ,uz;bdJk; jpzptpd;  
  tpfpjk; ahJ? 

  ______________________________________________________________________  


